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I 2 mwn: status of D'PTX vis-a-vis MM
a  p’m if they maintain ancestral traditions, treated like nvm> (above, X mwn): if they embrace Y87w> 7297 — treated like nvoxrw
b ’p» 77 the default case is that they are like n1ox7W> unless they actively embrace their ancestral practices
i Question: what is p"n’s default position? (his phrasing is inconclusive as it suffers from contradictory implications)
1 Answer: from 0y '7’s dissent, p"n’s default is that nVpITR::NPMI
¢ Related »r»72 3:0 1T RNAOIN — story about 3”13 who was talking with *py1% and his spit fell on 3n3’s clothes
i 4712 asked 'p11¥’s wife, who reported that they all show o7 to onan (@no nrmvY VYN of N YMa=>clothes are D 1NV)
1 Addendum: »ov "1 reported that nearly all ’p17¥ women show b7 to 0nan (support for his position; default — mYr1v23)
2 Challenge: why aren’t "n2’s clothes &nv due to contact with liquid of yaxn oy?
(a) Answer (718): could be 7an »prx
(i) Challenge: how do we suspect 72an *»17x of being a nT1 Y»1a (that 2”03 had to check with his wife?)
(b) Rather (827): it was during %37, when all are considered like n»an (per homily on v. 1)
II 2 mwn: dispute n”2/v"a regarding status of various nn7
a nynyw 5w ntoy o i orif a nymen has a child and then goes into 9mv ’n’ — status of her o7 (and ©T of NJ)
i v fully nno
1 Challenge: don’t w1 accept ruling (in spite of v. 2 limiting n2’1 to Y87w>) that 1327 decreed status of n»ar on n»
(a) Answer: that refers to men (ar)
(i) Argument: if we apply it to women,
1. If: we give status of mar (declaring both w1 n% to be xnv) —we’ll try it like n”nn nrMY and burn nnIN
2. If: we limit it to nY (like P17 and %31 'n) — we may end up doing the same with YR
(ii) Challenge: why doesn’t n92 nkm lead to same misunderstanding?
1. Answer: since we mark it as distinct (by not making o7 into Xnv) — won't regard it as n"nn
(iii) Challenge: why not make the distinction with o931 »nm 711 (by rendering them 71n0) and leave o7 as xnY?
1. Answer: 9"m 71 are more common > make 11 there
ii 772 like any other npwn (knvn if wet only)
1 ~27 w1 and n"a can agree that 211 of a "1 is XY (0™1N) — we have 120 (distinction) since *p is MMMV
(a) And: "2y w"a can agree that »p of a " must be 1Y — as we must have a 72’0 so as not to burn nmn
(b) Challenge: why not make the 120 with n2’1 and leave 1" as Xnv (0”1n)?
(i) Answer: n21 is uncontrollable =»put 7 there (to be xnv)
(c) Proposed support: 1:n MRNPN —a N who emits v of a YR’ — it is NrNY (the 1"v)
(i) But:a noRIW who emits 1"w of a " — it is nMNv
1. Assumption: nmnv (in last clause) means “fully nmnv”
2. Correction: may mean n”nn NNnv — but may be 0”1n NRNY
(d) Argument in favor of support: 11 mrNPN RNAOIN — conclusion (from T:n MRMPN) — "W of HRIW? is RNV even in belly of
" and 1w of a " is MV even in belly of NYRIW’ (except for her 1"n)
(i) And: this must mean NNV (even) j27T1 — as 71”n of a " cannot be n"nn wrNY his 1"v is fully v
(e) Note: this mwn+rnavin should be able to solve 8™'s query —is 1w of YR in belly of N considered xnv?
(i) Deflection: within first 3 days, he is sure that it is Xnv
(if) Question: if after 3 days — is it still RnV, as their anxiety-free life (vis-a-vis nn¢n) reduces jmn1o
1. Or perhaps: since they eat anything/everything, it is n*yon - yp’n
b 7530 85w n75 bT. Meaning — a N75 who has moved into 9mv > but didn’t go to mpn yet
i w72 only ®non if wet (77537 M npd)
ii /772 Xnvn as nT1 0T (Wet or dry)
¢ a2 n7orif she has nat o1 during labor, then ceases labor and continues bleeding then gives birth
i /773 v’z agree that she is wan n% xnvn (just like 2’1 07)
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